## ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1961

## 1st X1

TATAT	BOROUGHMUIR FP. DUNFERMLINE HERIOT'S FP LEITH FRANKLIN EDIN . ACADS.	135 - 59 144 127	4 <sup>×</sup> 6 7 15 <sup>×</sup>	67 - 131 143	9 8 <sup>*</sup> 9 <sup>*</sup>	D OFT D
AIAA	HERIOT'S FP LETTH FRANKLIN EDIN . ACADS.	144	6 7			
TAA	EDIN . ACADS.	144	7			Ð
AA	EDIN . ACADS.			143	9*	
A		127	10 *			W
	MANDRACT			128	7	L
	MANDERSTON	54	6	51	10*	W
A	MELVILLE COLL. FP.	147	9*	136	10	w
н	EDIN. UNIVERSITY	78	10*	81	6	L
A	GRANGE	101	10*	102	5	L
A	WATSONIANS					OFF
н	CARLTON	10	2	143	10*	D
A	STEWART'S COLL. FP.	127	8*	128	• 4-	L
A	GLASGOW HS . FP.	95	4	119	10	D
н	SELKIRK	148	5	171	5×	D
н	RHS. PP	149	7* .	85	10	L
		55	1.	123	5	
н	5.C.U. KI	103	4*	×	×	D
н	PRESIDENT'S XI	85	10*	86	3	L
A	ST. BOSWELLS	114	7	117	10*	D
A	HAWICK & WILTON	149	7.	147	5*	w
н	YORK WANDERERS	99	10*	62	10	w
н	STENHOUSEMUIR	200	5 ×	131	7	D
A	KIRKCALDY	61	10	101	10*	L
A	GOLFHILL	137	10 *	40	10	w
A	BRUNSWICK	103	7	102	10*	w
н	PERTHSHIRE	65	10	120	6*	L
н	TRINITY ACADS	163	4*	131	7	Ð
н	GALA	118	10*	71	6	D
	A A I A A I I · I I A A I I A A A I I	A GRANGE A GRANGE A WATSONIANS H CARLTON A STEWART'S COLL. FP. A GLASGOW HS. FP. H SELICIRK H RHS. PP  H S.C.U. XI H PRESIDENT'S XI A ST. BOSWELLS A HAWICK & WILTON H YORK WANDERERS H STENHOUSEMUL A GOLFHILL A GOLFHILL A BRUNSWICK H PERTHSHIRE H TRINITY ACADS	AGRANGE101AGRANGE101AWATSONIANS10ASTEWART'S COLL. FP.127AGLASGOW HS. FP.95HSELKIRK148HRHS. PP14955HS.C.U. XI103HPRESIDENT'S XI85AST. BOSWELLS114AHAWICK & WILTON149HYORK WANDERERS95HSTENJHOUSEMUIR200AKIRKCALDY61AGOLFHILL137ABRUNSWICK103HPERTHSHIRE65HTRINITY ACADS163	A  GRANGE  101  10*    A  WATSONIANS  10  2    A  WATSONIANS  10  2    A  STELDART'S COLL. FP.  127  8*    A  GLASGOW HS. FP.  127  8*    A  GLASGOW HS. FP.  95  4    H  SELICI RK  148  5    H  SELICI RK  148  5    H  SELICI RK  149  7*    H  SELICI RK  149  7*    H  SELICI RK  103  4*    H  S.c.u. KI  103  4*    H  S.c.u. KI  149  7    A  HAWICK & COULTON  149  7    H  YORK WANDERERS  99  16*    H  STENJHOUSEMUIR  200  5*    A  KIRKCALDY  61  10    A  BRUNSWICK	A  GRANGE  101  15*  102    A  WATSON JANS  .  .  .  .    H  CARLTON  10  2  143    A  STEWART'S COLL, FP.  127  8*  128    A  GLASGOW HS, FP.  95  4  119    H  SELICI RK  148  5  171    H  SELICI RK  149  7*  855    ·  .  .  55  1  123    H  RHS, PP  149  7*  85    ·  .  .  55  1  123    H  S.C.U. TI  103  4*  4    H  PRESIDENT'S TI  85  10*  86    A  STENDENST'S TI  85  10*  86    A  STENDENSENULS  114  7  117    H  PRESIDENT'S TI  85  10*  62    A  HAWICK & GUITON  149  7  147    H  STENHOUSEMUIR  200  5*  131	A  GRANGE  101  10 <sup>8</sup> 102  5    A  WATSONIANS  -  .  .  .  .  .    H  CARLTON  10  2  143  10 <sup>8</sup> .  .  .    A  STEWART'S COLL FP.  127  8 <sup>*</sup> 128  .4    A  GLASGOW HS.FP.  95  .4  .      H  SELKTRK  148        H  SELKTRK  148         H  SELKTRK  148

DH. ADAMSON	12	10	3	65*	126	18.00			1.5			T
AS AITHE	7	7		17	37	5.28						İ
DL. ANDERSON	22	18	5	24	183	14.07	3		17		00	1
IC. BRODIE	7	5		16	23	4.60	23	5	82	2	41.00	1
KF.CAMPBELL	2	2		4	6	3.00						
R.R. DRYSDALE	11	7	1	22	76	12.66	115	3	43	6	7.16	
DJ. ESSERY	2	2		3	4.	2.00						1
DD. FRASER	9	6	2	13	30	7.50	863	20	211	24	8.79	I
JS . GLENDINNING	3	3	• •	4	8	2.66	2		6		ac	
GI. GRAHAMSLAW	25	25	3	57	376	17.09	1463	24	391	28	13.96	
KA.GRANT	19	19	2	61	322	18.94						
AW . HARPER	10	10		28	88	8.80						
GA. HENRY	25	23	3	40	301	15.05						
JB. JOHNSON	22	9	5	5*	16	4.00	2482	66	519	50	10-38	1
EH. KILPATRICK	3	*	*	*	*	×	14	2	30		30.00	
DR. LAWRENCE	18	12	5	24*	87	12.42	1873	47	505	24	21.04	
RWC. PITMAN	15	15	2	111	432	33.23	79	17	191	9	21.22	
WC. SKINNER	5	3	1	5*	5	2.50	30	8	78	2	39.00	
AT. SMAIL	1		1.2	7	7	7.00						
Fo. THOMAS	22	22	3	63*	417	21.94	3		10		oc	
AMC. THORBURN	13	8	2	6	22	3.66	1064	10	314	19	16.52	
AWW. THORBURN	1	*	*	*	*	*						
AUN TILLEY	5	5		9	23	4.60						1
JA. WAITE	10	9	2	28	83	11.85						
GS. WATSON	6	4	3	···*	12	12.00	395	2	136	14	9.71	1

## ROYAL HIGH SCHOOL F.P. A' XI

			ROYAL HIGH	SCHOOL F.P.	OPPONENT	\$	
APR. 22	Н	SIGHTHILL	70	4	11	3	L
29	A	PENICUIK'A'	·	•	•	-	O
A YAM	Н	GEORGE HERIOT'S F.P. À 🛞	93	10*	96	2	L
13	A	LEITH FRANKLIN'A' 🛞	92	4	90	10*	W
20	Н	NEWINGTON	63	4	60	10*	W
27	A	MELVILLE COLLEGE F.P. A	128	6	176	9*	D
JUNE 3	Н	BRUNSWICK A 🛞	91	٩	90	10*	W
10	Н	WATSONIANS'A'	70	3*			D.
17	A	CARLTON A	20	١	153	10*	D
24	H	STEWART'S COLLEGE F.P. A 🛞	175	7*	138	10	W
JULY 1	A	GLASGOW HIGH SCHOOL F. P. A	120	8*	91	8	D
8	А	BURNTISLAND	107	٩	105	10*	W
15	Н	EDINBURGH CITY POLICE	48	2*			D
22	Н	LEITH ALBION	139	10*	91	10	W
29	A	STENHOUSEMUIR A	56	10*	57	۱	L
AUG.5	Н	HADDINGTON	126	8*	94	10	W
12	Η	LEITH ACADEMICALS	123	10*	99	10	V
19	Н	HOLY CROSS ACADEMICALS	147	6*	117	10	W
26	Н	MEADOWBANK	60	10*	54	10	V
SEPT. 2	Η	CORINTHIANS	155	5	85	10	W
	l						

P.19 W.11 D.5 L.3 0.1

R.U.S.F.P.	1883 RI	UNS 126	WICKETS	AVERAGE	14-94
OPPONENTS	1667 RU	INS. 143	VICKETS	AVERAGE	11.66

(\*) EAST LEAGUE - GRADE A

1961

ROYAL HIGH SCHOOL F.P. 3"XI

٢

						1961			
MAY 6	A	WATSONIANS B	127	8	125	8*	W		
13	H	TRINITY ACADEMICALS A	66	10*	67	8	L		
20	H	ST. MARY'S	93	2	92	10*	W		
JUNES	H	INNERLEITHEN	89	10	89	10*	TIE		
to	H	LEITH ACADEMICALS A	60	5*			AB.		
17	H	EDINBURGH ACADEMICALS B			88	10*	AB.		
24	H	STEWART'S COLLEGE F.P. B	171	4.	55	9 (Ao)	W		
MULY 1	H	GEORGE HERIOT'S SCHOOL F.P. B	119	S*	106	9	D		
8	H	CARRICKNOWE	169	6*	49	S (RO)	W		
22	H	ELDEE	80	5	78	9 (AD)			

P. 10 W. 5 T.I D.I AB.2 L.I.

R.H.S.F.P. 974 RUNS : 58 WICKETS : AVERAGE 16.79 ORIONENTS. 749 RUNS : 85 WICKETS : AVERAGE S+81